




610680

6106/2

9580331

9530109

6106/3

6106/3

6106/2

M12x30 (10.9)

110Nm

6106/1

9520092

M16x60 (8.8)

230Nm
M14x40 (10.9)

160Nm

M14x40 (10.9)

175Nm

M14x40 (10.9)

160Nm

M14x40 (10.9)

175Nm

M12x110 (10.9)

95Nm

M12x110 (10.9)

95Nm

A

B

A

C

D

E

F

F

EK

L

M

G

H

Для инструкций по снятию  и установке деталей автомобиля,
обращайтесь к  руководству для работников гаражей.

Информацию  о монтаже и средствах крепления вы найдете в
схеме.



A jármű alkat részeinek szét szerelési és összeilleszt ési módját  lásd a
munkahelyi kézikönyvben.

РУКОВОДСТВО ДЛЯ МОНТАЖА:

Перед тем, как  начинать монтаж , требуется проверить табличку с
типом изделия для того, чтобы определить какую  именно из
иллюстраций в инструкции по установке нужно использовать.

MONTAGEHANDLEIDING:

Voordat  u met  de mont age begint  dient  u op het  t ypeplaat je te kijken
welke schets in de handleiding van t oepassing is.

Raadpleeg voor demont age en mont age van voert uigonderdelen het
werkplaat shandboek.

Raadpleeg voor mont age en bevest igingsmiddelen de schet s.

BELANGRIJK:

* Bij het  boren dient  men er zorg voor t e dragen, dat  elect ricit eit s-,
rem- en brandst of leidingen niet  worden geraakt .

FITTING INSTRUCTIONS:

Before you st art  the f it t ing you must  check t he t ype plat e t o det ermi-
ne which sket ch, in t he f it t ing inst ruct ion, is applicable.

For dismant ling and f it t ing t he vehicle parts, see t he sit e handbook.
For f it t ing inst ruct ions and at t achment  met hod, see drawing.

NOTE:
* Should t his inst allat ion process ent ail t he cut t ing of  the bumper –

conformat ion MUST be obt ained by t he inst allat ion engineer of  t he



customer’s accept ance prior t o complet ion. Brink Towing Syst ems do
not  accept  responsibil it y for any mat t ers arising as a result  of  t his
miscommunicat ion.

*  All measurement s are in mm!

*  Do not  dril l t hrough elect rical-, brake- or fuellines.

MONTAGEANLEITUNG:

Vor Beginn des Einbaus ist  anhand der Typplaket t e der Anhänger -
kupplung fest zustellen, welche Einbauskizze in dieser Montagean -
leit ung die richt ige ist .

Für die Demontage und Mont age von Fahrzeugt eilen das Werkst at t -
Handbuch zu Rat e ziehen.

Für die Mont age und die Befest igungsmit tel die Einbauskizze zu Rate
ziehen.

HINWEISE:

* Vor dem Bohren prüfen, daß keine, dort  event uell vorhandene
Leit ungen beschädigt  werden können.

ASENNUSOHJEET:

Ennen asennust a selvit ä t yyppikilvest ä, mikä asennusohjeen piirros
koskee kyseist ä aut oa 

POKYNY K MONTÁŽI:

Před inst alací je nut no zkont rolovat  t ypový št ít ek, abyste zjist ili, kt erý
nákres v pokynech pro inst alaci máte použít .



INSTRUKCJA MONTAŻU:

Przed rozpoczęciem mont ażu należy sprawdzić t abliczkę znamionową,
aby ust alić, kt óry z rysunków znajdujących się w inst rukcji mon-
t ażowej należy wykorzyst ać.

INSTRUCTIONS DE MONTAGE:

Avant  de commencer le mont age veuillez,  vérif ier la plaque signalét i-
que de l’at telage af in de d'ident if ierr l 'il lust rat ion correspondante
dans la not ice de mont age.

Pour le mont age et  le démont age des pièces du véhicule, consult er la
not ice du fabricant .

Consulter le croquis pour voir le mont age et  les moyens de f ixat ion.

REMARQUE:

* Veiller en perçant  à ne pas endommager les conduit es de élect rique,
de f rein et  de carburant .

MONTERINGSANVISNINGAR:

Innan du st art ar mont eringen måst e du kont rollera t ypskylt en för at t
kunna bedöma vilken skiss i monteringsanvisningen som ska använ-
das.



Se verkst adshandboken för demont ering och mont ering av fordonet s
delar.

Se f iguren för mont ering och mont eringsmat erial.

OBS:

* Vid borrning skall man se t il l at t  elekt risk-, broms- og bränsleledning-
arna int e skadas.

MONTAGEVEJLEDNING:

Inden du st art er mont age, skal du se på t ypeskilt et , hvilken tegning i
vejledningen der skal anvendes.

Rådfør værkst edshåndbogen for demont ering og montage af  dele t il
køret øjet

Rådfør for mont age og mont agemidler skit sen.

BEMÆRK:

* Vær forsigt ig ikke at  bore i ledninger-,bremse ell ler benzinslange.

INSTRUCCIONES DE MONTAJE:

Ant es de comenzar el mont aje por favor, verif ique la placa descript iva
del enganche con el f in de det erminar la f igura correspondient e en
la reseña de montaje.

*  No agujerear cable de eléct rico, tubos de f reno o gasolina"

ISTRUZIONI PER IL MONTAGGIO:


